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There are total six questions in this question paper. Students are required to answer any four
guestions. Each question carries equal marks

1.

X Company Limited invited applications for 60,000 equity shares of ¥ 10 each at a premium of I
2.50 per share payable on application. The amount payable on allotment was fixed at X 4 per
share and an equivalent sum was due on first and final call to be made applications received and
allotments made are as follows:

Category Applications Received Allotment of Shares
A 70,000 Shares 42,000 Shares
B 35,000 Shares 14,000 Shares
C 5,000 Shares 4,000 Shares
1,10,000 Shares 60,000 Shares

It was decided that excess amount received on application would be utilised in payment of
allotment money and surplus, if any, would be refunded to the applicants. Amar who belonged to
category A had applied for 100 shares, defaulted in payment of allotment and call. Deep who
belonged to category C and was allotted 800 shares failed to pay the call money. Their shares
were forfeited after the call and reissued as fully paid up for X 8 and X 6 per share respectively.

You are required to

a) Pass journal entries in the books of the company to record the above transactions.
b) Prepare the Balance Sheet post Reissue of forfeited shares.

Following are balances extracted from the Balance Sheet of Mansi Pvt. Ltd. as on 31st March
2021

Liabilities: Rs.
1,00,000 equity shares of Rs. 10 each, fully paid up 10,00,000
2,00,000 equity shares of Rs. 10 each, Rs. 8 paid up 16,00,000
50,000 10% cumulative Preference Shares of Rs. 10 each , fully paid up 5,00,000
Bank Loan (Long term) 10,00,000
12 % Debentures 5,00,000

Creditors 4,00,000



Provision for Taxation 1,00,000

51,00,000
Assets: Rs.
Land and Buildings 25,00,000
Plant & Machinery 7, 50,000
Inventories 4,50,000
Debtors 12,00,000
Goodwill 60,000
Cash and Bank balance 1,40,000

51,00,000

Other information:

(i) Land and Building is valued at 30,00,00, Plant & Machinery at Rs. 6,00,00, inventories at Rs.
5,40,000, goodwill at Rs. 1,00,000.

(ii) 10 % debtors are doubtful.

(iii) There is a contingent liability of Rs. 20,000 which has become payable.

Calculate the value of both the types of shares under the Net Assets Method.

The balance sheet of Matrix Ltd. on 31% March 2021 is as follows:

I. EQUITY AND LIABILITIES
1. Shareholders' Funds
(a) Share Capital
Issue and Subscribed:
8% Redeemable Preference Shares of X 100 each fully paid 900000
Equity shares of % 10 each fully paid 900000
(b) Reserves and Surplus
General Reserve 360000
Securities Premium Account 27,000
Surplus in the Statement of Profit and Loss 5,40,000
2. Current Liabilities
Trade Payables 1,23,000
Total 28,50,000
I1. ASSETS
1. Non-Current Assets
(a) Property, Plant and Equipment 20,00,000
2. Current Assets
(a) Current Investments 3,80,000
(b) Trade Receivable 2,70,000
(b) Cash and Cash equivalents (Cash at bank) 2,00,000
Total 28,50,000




The preference shares were to be redeemed at 10% premium. The company issued 45,000 equity
shares of X 10 each at a premium of X 5 per share. All shares were subscribed and cash duly
received. The investments were sold for ¥ 3,50,000. Payment was made to the preference
shareholders and thereafter directors decided to issue bonus shares in the ration of one share for
every four share held. For this purpose free reserves were utilised to the minimum extent
necessary.

You are required to (i) pass the necessary journal entries to record the above transactions and (ii)
prepare the balance sheet post redemption.

The following are the balance sheets of H Ltd. and S Ltd. as on 31% March 2020:

H Ltd. S Ltd.
I. EQUITY AND LIABILITIES £d £d
1. Shareholders' Funds
(a) Share Capital
Equity Shares of X 100 each fully paid up 10,00,000 8,00,000
(b) Reserves and Surplus
General Reserve 2,00,000 2,00,000
Surplus in Statement of Profit and Loss 4,00,000 3,00,000
2. Current Liabilities 2,00,000 2,00,000
Total 18,00,000 15,00,000
I1. ASSETS g g
1. Non-Current Assets
(a) Property, Plant and Equipment: Tangible Assets 5,00,000 4,00,000
(b) Non-Current Investment
Investment in S Ltd. 5,00,000 -
2. Current Assets 8,00,000 11,00,000
Total 18,00,000 15,00,000

The following further information is furnished:

1. H Ltd. acquired 3,000 shares in S Ltd. on 1st April, 2019 when the reserve and surplus of S
Ltd. were as under:
(a) General reserve 5,00,000.
(b) Profit and Loss Account (credit balance) 2,00,000.



2. On 1st October, 2019, S Ltd. issued three fully paid-up shares for every five shares held, as
bonus shares out of pre-acquisition general reserve. No entry is made in the books of H Ltd.

for the receipt of these bonus shares.

3. On 30th June, 2019, S Ltd. declared 20% dividend out of pre-acquisition profits and H Ltd.

credited the receipt of dividend to its Profit and Loss Account.

4. S Ltd. owed H Ltd. on 31st March, 2020  1,00,000 for purchase of stock from H 1td. The
entire stock is held by S Ltd. on 31st March, 2020. H Ltd. made a profit of 25% on cost.
5. Hltd. transferred for cash payment a machine to S Ltd. for X 80,000. The book value of

machine to H Ltd. was T 60,000.

Prepare a Consolidated Balance Sheet as at 31st march, 2020. Adjustment for depreciation on
machine transferred by H Ltd. to S Ltd. is to be ignored.

What is the need of doing Internal Reconstruction? What important changes can be done in

regards of the assets and liabilities of the company? Explain with suitable example.

Following are the Balance Sheets of Real Industries Ltd.

Particulars 31-03-2021 | 31-03-2020
I. Equities and Liabilities
Shareholder’s fund:
Share Capital 2,70,000 2,00,000
Reserve and Surplus 80,000 65,000
Non-Current Liabilities:
Long Term Borrowings 35,000 25,000
Current Liabilities:
Short Term Borrowings 8,000 20,000
Trade Payables 70,000 80,000
Short term Provision 55,000 45,000
Total 5,18,000 4,35,000
I1. Assets
Non-Current Assets:
Fixed Assets: 1,85,000 2,15,000
Deferred tax Assets 25,000 15,000
Current Assets
Inventories 1,25,000 80,000
Trade receivables 1,67,000 1,23,000
Cash and Cash equivalents 16,000 2,000
5,18,000 4,35,000
Total
Notes to Accounts:
Particulars 31-03-2021 | 31-03-2020
1 Share Capital
Equity Share Capital 2,00,000 2,00,000
9% Redeemable Preference Shares 70,000




Reserves and Surplus:

General Reserve 40,000 40,000
Profit and Loss Balance 40,000 25,000
3 Long Term Borrowings:
8% Debentures 35,000 25,000
4 Short term Borrowings:
Bank Overdraft 8,000 20,000
5 Short term provisions
Provision for Taxation 25,000 20,000
Proposed Dividend 30,000 25,000
6 Fixed Assets 2,50,000 2,70,000
Less: Accumulated Depreciation (65,000) (55,000)

Provision for taxation made Rs. 30,000. Debentures amounting to Rs. 10,000 were issued on 1%
October, 2020. Interest on dentures has been paid up-to date. You are required to prepare Cash
Flow Statement
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